
-١

(a) f(x) = −π

۴ +
h

٢ +
∞∑
k=١

{ ١
πk٢

[
١ + (−١)k+١] cos kx
+

١
πk

[
h+ (h+ π)(−١)k+١] sin kx}

(c) f(x) = sinx+
∞∑
k=١

(١−)٢k+١

k
sin kx

(e) f(x) =
sinh π

π

[
١ +

∞∑
k=١

(١−)٢k
١ + k٢ (cos kx− k sin kx)

]

-٢

(a) f(x) =
∞∑
k=١

٢
k
sin kx

(b) f(x) =
∞∑
k=١

( ٢
kπ

)[
١ − (١−)٢k + cos

kπ

٢

]
sin kx

(c) f(x) =
∞∑
k=١

[
(١−)٢k+١π

k
+

۴
πk٢

(
(−١)k − ١

)]
sin kx

(d) f(x) =
∞∑
k=٢

٢k
π

[١ + (−١)k
k٢ − ١

]
sin kx

-٣

(a) f(x) =
٣
٢π +

∞∑
k=١

٢
πk٢

[
(−١)k − ١

]
cos kx

(b) f(x) =
π

٢ +
∞∑
k=١

٢
πk٢

[
(−١)k − ١

]
cos kx

(c) f(x) =
π٢

٣ +
∞∑
k=١

۴(−١)k
k٢ cos kx

(d) f(x) =
٢

٣π +
∞∑

k=١,٢,۴,···

۶
π

[١ + (−١)k
٩ − k٢

]
cos kx k ̸= ٣

١



-۴

(b) f(x) =
∞∑
k=١

( ٢
kπ

)
sin

kπ

٢ cos

(
kπx

۶

)

(c) f(x) =
٢
π
+

∞∑
k=٢

( ٢
kπ

)[١ + (−١)k
١ − k٢

]
cos

(
kπx

l

)

(f) f(x) =
∞∑
k=١

kπ

١ + k٢π٢ (−١)k+١ (e− e−١) sin(kπx)
-۵

(a) f(x) =
∞∑

k=−∞

١
π

(٢ + ik

۴ + k٢

)
(−١)k sinh٢πeikx

(b) f(x) =
∞∑

k=−∞

(−١)k
π (١ + k٢)

(−١)k sinhπeikx

(d) f(x) =
∞∑

k=−∞

(−١)k
(

i

kπ

)
eikπx

-۶
(a) f(x) =

π

٨π +
∞∑
k=١

[ ١
٢πk٢

{
(−١)k − ١

}
cos kx+

(−١)k+١

٢k sin kx

]
-٧

(a) f(x) =
l٢

٣ +
∞∑
k=١

۴(−١)k
( ١
kπ

)
cos

(
kπx

l

)
-٨

(a) sin٢ x =
∞∑

k=١,٣,۴,···

۴(١ − cos kπ

kπ (۴ − k٢)
sin kx

(b) cos٢ x =
∞∑

k=١,٣,۴,···

٢
kπ

(١ − k٢

۴ − k٢

)
(١ − cos kπ) sin kx

(b) sinx cosx =
∞∑

k=١,٣,۴,···

٢
π

(١ − cos kπ

۴ − k٢

)
cos kx

٢



-٩

(a)
x٢

۴ =
π٢

١٢ −
∞∑
k=١

(−١)k+١

k٢ cos kx

(c)

∫ ∞

٠
ln
(

٢ cos
x

٢
)
x =

∞∑
k=١

(−١)k+١ sin kx

k٢

(e)
π

٢ − ۴
π

∞∑
k=١

cos(٢k − ١)x
(٢k − ٢(١ =


−x −π < x < ٠

x ٠ < x < π

٣



-١٠

(a) f(x, y) =
١۶
π٢

∞∑
m=١,٣,···

∞∑
n=١,٣,···

( ١
mn

)
sinmx sinny

(c) f(x, y) =
π۴

٩ +
١
٢

∞∑
m=١

٨
٣π٢ (−١)m

m٢ cosmx+
١
٢

∞∑
n=١

٨
٣π٢ (−١)n

n٢ cosny

+
∞∑

m=١

∞∑
n=١

١۶(−١)m+n

m٢n٢ cosmx cosny

(e) f(x, y) =
∞∑

m=١

(١−)٢m+١

m
sinmx sin y

(g) f(x, y) =
∞∑

m=١

∞∑
n=١

dmn sin
(mπx

١
)
sin

(nπy
٢

)
dmn = ۴

١٫٢
∫ ٢

٠
∫ ١

٠ xy sin(mπx) sin
(
nπy

٢
)
xy که

= ٢
∫ ٢

٠
[
sinmπx
m٢π٢ − x cosmπx

mπ

]١
٠ y sin

(
nπy

٢
)
y

= −(١−)٢m
mπ

∫ ٢
٠ y sin

(
nπy

٢
)
y = −(١−)٢m

mπ

(
−۴(−١)n

nπ

)
= (١−)٨m+n

π٢mn

(h) f(x, y) =

(١۶
π٢

) ∞∑
m=١

∞∑
n=١

[(٢m− ٢)(١n− ١−[(١ sin

[
(٢m− ١)πx

a

]
× sin

[
(٢n− ١)πy

a

]
(i) f(x, y) =

(
sin٢
π

) ∞∑
m=١

(−١)m+١

m
sinmπx

+

(٨ sin٢
π

) ∞∑
m=١

∞∑
n=١

[
(−١)m+n+١

m (۴ − π٢n٢)

]
sin(mπx) cos

(nπy
٢

)
(j) f(x, y) =

٢
٣π٢

∞∑
m=١

(−١)m+١

m
sinmx+

∞∑
m=١

∞∑
n=١

(١−)٨m+n+١

mn٢ sinmx sinny

(k) f(x, y) =
π۴

٩ +

(۴π٢

٣

)[
∞∑

m=١

(−١)m
m٢ cosmx+

∞∑
n=١

(−١)n
n٢ cosny

]

+ ١۶
∞∑

m=١

∞∑
n=١

(−١)m+n

m٢n٢ cosmx cosny

۴



-٢٠

(a) b٢n = ٠, b٢n+١ =
٨

π(٢n+ ٣(١

f(x) = x(π − x) =
٨
π

(
sinx

١٣ +
sin٣x

٣٣ +
sin۵x

۵٣ + · · ·
)

(b) x =
π

٢ و x =
π

۴ دهید قرار ها سری مجموع یافتن جهت

-٢١
(a) bn =

٢
π

∫ π

٠
f(x) sinnxx =

( ٨
n٢π٢

)
sin

(nπ
٢

)
, n = ٠,١,٢, · · ·

b٢n = ٠, bn =
(١−)٨n

π٢)٢n+ ٢(١

(b) x =
π

٢ دهید قرار

۵



-٢٢

(a) f(x) =
∞∑

n=١
bn sin

(nπx
a

)
,

bn =
٢
a

∫ a

٠
sin

(nπx
a

)
x =

٢
nπ

(١ − cosnπ)

=
٢
nπ

[١ − (−١)n] =


۴
nπ

زوج n

٠ فرد n

f(x) ∼ ۴
π

[
sin

(πx
a

)
+

١
٣ sin

(٣πx
a

)
+

١
۵ sin

(۵πx
a

)
+ · · ·

]
f(x) ∼ ١

٢a٠ +
∞∑

n=١
an cos

(nπx
a

)
, a٠ = ٢

an =
٢
nπ

(sinnπ − ٠) = ٠, n ̸= ٠

١ = ١ + ٠ · cos
(nπ

a

)
+ ٠ · cos

(٢nπ
a

)
+ · · ·

(b) f(x) =
∞∑

n=١
(−١)n+١ ٢a

nπ
sin

(nπx
a

)
f(x) ∼ ١

٢a٠ +
∞∑

n=١
an cos

(nπx
a

)
a٠ =

٢
a

∫ a

٠
xx = a

an =
٢
a

∫ a

٠
x cos

(nπx
a

)
x =

٢a
n٢π٢ ((−١)n − ١)

=


٠ زوج n

− ۴a
n٢π٢ فرد n

۶



-٢٣

(a) a٠ =
١
a

∫ a

−a

xx = ٠

an =
١
a

∫ a

−a

x cos
(nπx

a

)
x =

[ x

nπ
sin

(nπx
a

)
+

a

n٢π٢ cos
(nπx

a

)]a
−a

=
a

n٢π٢ (cosnπ − cos(−nπ)) = ٠

bn =
١
a

∫ a

−a

x sin
(nπx

a
x

=

[
−x

nπ
cos

(nπx
a

)
+

a

n٢π٢ sin
(nπx

a

)]a
−a

=
−a

nπ
cosnπ +

−a

nπ
cos(−nπ) = (−١)n+١

(٢a
nπ

)
(c) a٠ =

١
٢π

∫ ٢١

٠
f(x)x =

١
٢π

∫ ٢١

π

x =
١
٢

an =
١
π

∫ ٢١

٠
f(x) cosnxx =

١
π

∫ ٢١

π

cosnxx = ٠, n هر برای

bn =
١
π

∫ ٢١

٠
f(x) sinnxx =

١
π

∫ ٢١

π

sinnxx

=
١
nπ

[−١ + (−١)n] =


٠ زوج n

− ٢
nπ

فرد n

f(x) =
١
٢ − ٢

π

∞∑
k=٠

sin(٢k + ١)x
٢k + ١

٧


